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Note : This paper is of eighty (80) marks containing three 

(03) Sections A, B and C. Learners are required to 

attempt the questions contained in these Sections 

according to the detailed instructions given therein. 

uksV % ;g iz’u i= vLlh ¼80½ vadksa dk gS tks rhu ¼03½ [k.Mksa 

^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks bu 

[k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa ds 

mŸkj nsus gSaA 

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section ‗A‘ contains four (04) long answer type 

questions of nineteen (19) marks each. Learners are 

required to answer two (02) questions only. 
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uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, mUuhl ¼19½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 

1. Define Cost Accounting. Discuss the significance of 

Cost Accounting in brief. Also discuss the different 

methods of Cost Accounting. 

ykxr ys[kkadu dks ifjHkkf”kr dhft,A ykxr ys[kkadu ds 

egRo dh la{ksi esa O;k[;k dhft,A ykxr ys[kkadu dh 

fofHkUu i)fr;ksa dk o.kZu Hkh dhft,A 

2. Give specimen forms of stores ledger and bin-card. 

What is the essential difference between these two 

documents ? Do you recommend that both should be 

placed in stores or stock control department ? 

LVkslZ [kkrkcgh rFkk fcu i=d ds izk:i nhft,A bu nks 

izys[kksa esa egŸoiw.kZ vUrj D;k gS \ D;k vki bu nksuksa dks 

LVkslZ vFkok LVkWd fu;U=.k foHkkx esa j[ks tkus dh vuq’ka”kk 

djsaxs \ 

3. From the following particulars, prepare a statement of 

X company showing (a) The cost of material 

consumed, (b) Prime Cost, (c) Works Cost, (d) Total 

Cost, (e) The percentage of works overhead to 
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productive wages and (f) The percentage of 

administrative overhead to works cost : 

       ` 

Finished Stock (Opening) 72,000 

Stock of Raw Material (Opening) 33,280 

Raw Material Purchased 7,59,000 

Wages 5,17,080 

Sales of finished goods  15,39,200 

Finished Stock (Closing) 77,200 

Stock of Raw Material (Closing) 35,360 

Factory Overhead 1,29,220 

Administrative Expenses 70,161 

The company is about to send a tender for a large 

plant. The Costing Department estimates that the 

materials required would cost ` 52,000 and the wages 

to workmen for making the plant would cost ` 31,200. 

The tender is to be made at a net profit of 20% on 

selling price. Show what the amount of tender would 

be if based on the above percentage. 

fuEukafdr fooj.k ls ^,Dl* dEiuh dk ,d fooj.k i= 

rS;kj dhft, vkSj n’kkZb,&¼v½ iz;qDr lkexzh dh ykxr] 

¼c½ ewy ifjO;;] ¼l½ dkj[kkuk ifjO;;] ¼n½ dqy ykxr] ¼b½ 

izfr’kr tks dkj[kkuk mifjO;; dk mRiknd etnwjh ds gS a 
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rFkk ¼Q½ izfr’kr tks iz’kklfud mifjO;; dk dkj[kkuk 

mifjO;; ls gSa % 

 (`) 

fufeZr eky dk jgfr;k ¼izkjfEHkd½ 72,000 

dPph lkexzh dk jgfr;k ¼izkjfEHkd½ 33,280 

dPph lkexzh Ø; 7,59,000 

etnwjh 5,17,080 

fufeZr eky dh fcØh 15,39,200 

fufeZr eky dk jgfr;k ¼vfUre½ 77,200 

dPph lkexzh dk jgfr;k ¼vfUre½ 35,360 

dkj[kkuk mifjO;; 1,29,220 

iz’kklfud O;; 70,161 

dEiuh ,d cM+s Iyk.V ds fy, Vs.Mj Hkstus okyh gSA 

ifjO;;kadu foHkkx vuqeku yxkrk gS fd vko’;d lkexzh 

dh ykxr ` 52]000 gksxh rFkk deZpkfj;ksa dh etnwjh  

` 31]200 gksxhA Vs.Mj foØ; ewY; ij 20% ykHk ds 

vuqlkj gksxkA Vs.Mj fdl jkf’k dk cusxk ;fn ;g mi;qZDr 

izfr’krksa ij vk/kkfjr gksA 

4. From the following figures, show the cost of the three 

processes of manufacture. The production of each 
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process is passed on to the next process immediately 

on completion : 

 Process 

A (`) 

Process 

B (`) 

Process 

C (`) 

Wages and 

Materials 30,400 12,000 29,250 

Works Overhead 5,600 5,250 6,000 

Production (in 

units) 36,000 37,500 48,000 

Stock (units from 

preceding process) 

1-7-2014 — 4,000 16,500 

Stock (units from 

preceding process) 

31-7-2014 — 1,000 5,500 

fuEufyf[kr vk¡dM+ksa ls mRiknu dh rhu izfØ;kvksa dk 

ifjO;; fn[kkb,A ,d izfØ;k dk mRiknu iwjk gksus ij rqjUr 

vxyh izfØ;k dks Hkst fn;k tkrk gS % 

 izfØ;k 

^v* ¼`½ 

izfØ;k 

^c* ¼`½ 

izfØ;k 

^l* ¼`½ 

Je ,oa lkexzh 30,400 12,000 29,250 

Je mifjO;; 5,600 5,250 6,000 

mRiknu ¼bdkb;ksa esa½  36,000 37,500 48,000 

LdU/k ¼fiNyh izfØ;k ls 

bdkb;k¡½ 1&7&2014 — 4,000 16,500 

LdU/k ¼fiNyh izfØ;k ls 

bdkb;k¡½ 31&7&2014 — 1,000 5,500 
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Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section ‗B‘ contains eight (08) short answer type 

questions of eight (08) marks each. Learners are 

required to answer four (04) questions only.  

Answer of these questions must be restricted to two 

hundred fifty (250) words approximately. 

uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, vkB ¼08½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ iz’uksa ds mŸkj nsus 

gSaA izR;sd iz’u dk mŸkj yxHkx nks lkS ipkl ¼250½ 

‘kCnksa rd lhfer gksuk pkfg,A 

1. What is meant by Cost Accounting ? In what essential 

aspects does Cost Accounting differ from Financial 

Accounting ? 

ykxr ys[kkadu ls D;k vk’k; gS \ ykxr ys[kkadu fdu 

egŸoiw.kZ ckrksa esa foŸkh; ys[kkadu ls fHkUurk j[krk gS \ 

2. ‗Works cost is different from the Works Expenses.‘ 

Comment. 

^dkj[kkuk ykxr dkj[kkuk O;; ls fHkUu gksrk gSA* fVIi.kh 

dhft,A 

3. Write a short note on Economic Order Quantity 

(EOQ). 

ferO;;h vkns’k ek=k ij ,d laf{kIr fVIi.kh fyf[k,A 

4. How is the payment to contractor calculated on the 

basis of work certification under contract accounting ? 

Bsdk [kkrksa ds vUrxZr dk;Z izek.ku ds vk/kkj ij Bsdsnkj 

dks Hkqxrku dh x.kuk dSls dh tkrh gS \ 
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5. What do you mean by the terms Joint Products and 

Bye-Products ? Write a brief note on them. 

la;qDr mRiknksa rFkk miksRiknksa ls vki D;k le>rs gSa \ bu 

ij ,d laf{kIr fVIi.kh fyf[k,A 

6. What is meant by Normal Wastage and Abnormal 

Wastage ? 

lkekU; {k; rFkk vlkekU; {k; ls D;k vk’k; gS \ 

7. Haldwani Municipal Corporation arranges for the 

removal of its garbage by means of motor vehicle 

transport. The following vehicles are maintained : 

No. of Vehicles Specifications 

20 5 ton lorries 

30 4 ton lorries 

50 3 ton lorries 

40 2 ton lorries 

On an average each lorry makes six trips a day and in 

each trip covers an average distance of 5 kilometre. 

Each lorry carries garbage weighting only 60% of 

capacity. Taking an annual average, 20% of the lorries 

are laid up for repairs every day. Conservancy work is 

carried on daily. Assuming that a month carries of 30 

days, calculate total ton kilometre. 
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gY}kuh egkikfydk fuxe eksVj xkfM+;ksa ds }kjk dwM+k mBkus 

dh O;oLFkk djrh gSA fuEufyf[kr xkfM+;k¡ j[kh tkrh gSa % 

xkfM+;ksa dh la[;k eki ekud 

20 5 Vu dh xkfM+;k¡ 

30 4 Vu dh xkfM+;k¡ 

50 3 Vu dh xkfM+;k¡ 

40 2 Vu dh xkfM+;k¡ 

vkSlru izR;sd xkM+h ,d fnu esa N% [ksi djrh gS vkSj ,d 

[ksi esa 5 fdeh- vkSlr nwjh pyrh gSA izR;sd xkM+h viuh 

{kerk dk 60 izfr’kr dwM+s dk otu ys tkrh gSA okf”kZd 

vkSlr yxkdkj 20 izfr’kr xkfM+;k¡ izfr fnu ejEer ds fy, 

[kM+h jgrh gSaA dwM+k <qykbZ dk dk;Z izfrfnu pyrk gSA ;g 

ekurs gq, fd ekg esa 30 fnu gSa] dqy Vu fdyksehVj dh 

x.kuk dhft,A 

8. The costing department of Pandavas Stores absorbs 

factory overhead @ 60% of labour and office 

overheads @ 20% of factory cost. The total 

expenditure for the factory is an under : 

   ` 

Materials 4,00,000 

Labour 3,00,000 

Factory Overhead 1,96,000 

Office Overhead 1,70,000 
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10% of the output is in stock. Sales amounted to 

` 10,20,000. Stock has been valued at total cost in both 

the accounts. Prepare a cost sheet and reconciliation 

statement. 

ik.Mokt LVkslZ dk ykxrkadu foHkkx dkj[kkuk mifjO;; dks 

Je ds 60 izfr’kr vkSj dkj[kkuk mifjO;; dks dkj[kkuk 

ykxr ds 20 izfr’kr dh nj ls vo’kksf”kr djrk gSA 

dkj[kkus esa dqy O;; fuEufyf[kr gSa % 

   ` 

lkexzh 4,00,000 

Je  3,00,000 

dkj[kkuk mifjO;; 1,96,000 

dk;kZy; mifjO;; 1,70,000 

mRiknu dk 10 izfr’kr LVkWd gSA foØ; ` 10]20]000 gSA 

nksuksa [kkrksa esa LVkWd dk ewY;kadu ykxr ij fd;k x;k gSA 

,d ykxr i=d rFkk feyku i= cukb;sA 

Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu”B iz’u½ 

Note : Section ‗C‘ contains ten (10) objective type 

questions of one (01) mark each. All the questions 

of this Section are compulsory. 
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uksV % [k.M ^x* esa nl ¼10½ oLrqfu”B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy, ,d ¼01½ vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

Indicate whether the following statements are True or False : 

bafxr dhft, fd fuEufyf[kr dFku lR; gSa ;k vlR; % 

1. Variable cost per unit remains the same. 

ifjorZuh; ykxr izfr bdkbZ leku jgrh gSA 

2. Taylor‘s differentiate piece rate plan, pays higher rate 

to efficient worker. 

Vsyj dh foHksnkRed dk;Z nj ;kstuk esa dq’ky Jfed dks 

Å¡ph nj ls etnwjh nh tkrh gSA 

3. Profit or Loss on sale of fixed assets is included only in 

financial accounts but not in cost accounts. 

fLFkj lEifŸk;ksa ij ykHk ;k gkfu dks dsoy foŸkh; ys[kksa esa 

lfEefyr fd;k tkrk gS fdUrq ykxr ys[kksa esa ughaA 

4. Machine hour rate method is the method of absorption 

of Factory Overheads. 

e’khu ?k.Vk nj i)fr dkj[kkuk mifjO;;ksa ds vo’kks”k.k dh 

,d i)fr gSA 

5. Abnormal gain is written on the Debit side of the 

process accounts. 

vlkekU; cpr izfØ;k [kkrs ds _.kh ¼MsfcV½ i{k esa fy[kh 

tkrh gSA 
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Choose the correct alternative : 

lgh fodYi pqfu, % 

6. The sum of Direct Material, Direct Labour and Direct 

overhead is : 

(a) Prime Cost (b) Factory Cost 

(c) Fixed Cost (d) Total Cost 

izR;{k lkexzh] izR;{k Je rFkk izR;{k mifjO;; dk ;ksx 

fuEufyf[kr esa ls D;k gksrk gS \ 

¼v½ ewy ykxr ¼c½ dkj[kkuk ykxr 

¼l½ fLFkj ykxr ¼n½ dqy ykxr 

7. Which of the following items is not included in Cost 

Account ? 

(a) Rent of Warehouse 

(b) Share Transfer Fees 

(c) Depreciation on Furniture 

(d) Wages 

fuEufyf[kr esa ls dkSu&lh en ykxr ys[kksa esa lfEefyr ugha 

dh tkrh gS \ 

¼v½ xksnke dk fdjk;k 

¼c½ va’k gLrkarj.k ‘kqYd 

¼l½ QuhZpj ij kl 

¼n½ etnwjh 

8. Calculate the profit when cost price is ` 18,000 and 

profit 10% on sales : 

(a) ` 9,000 (b) ` 18,000 

(c) ` 2,000 (d) ` 20,000 
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ykHk dh x.kuk dhft, tcfd ykxr ` 18]000 rFkk ykHk 

foØ; ij 10 izfr’kr gS % 

¼v½ ` 9]000 ¼c½ ` 18]000 

¼l½ ` 2]000 ¼n½ ` 20]000 

9. When work certified is less ........... % of contract price, 

profit will not be determined. 

(a) 25 (b) 30 

(c) 33 (d) 50 

;fn izekf.kr dk;Z Bsdk ykxr ds 
----------------------

 izfr’kr ls de 

gS] rks ykHk dh x.kuk ugha dh tk;sxhA 

¼v½ 25 ¼c½ 30 

¼l½ 33 ¼n½ 50 

10. The cost price of a tender is ` 8]00]000. What will be 

the tender price if the profit is added 20% on tender 

price ? 

(a) ` 1,60,000 (b) ` 1,20,000 

(c) ` 2,00,000 (d) None of these 

,d fufonk dk ykxr ewY; ` 8]00]000 gSA ;fn fufonk 

ewY; ij 20 izfr’kr ykHk tksM+k tk;] rks fufonk ewY; 

fuEufyf[kr esa ls D;k gksxk \ 

¼v½ ` 1]60]000 

¼c½ ` 1]20]000 

¼l½ ` 2]00]000 

¼n½ buesa ls dksbZ ugha 
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